CHEM 121, section 1,

GROUP HOMEWORK #4
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Chapter. 14. Alcohols, Phenols, and Ethers
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1) (3 pts) Identify the Alcohols, Phenols, and Ethers from the following and give
their common and/or [TUPAC names.
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2) (1 pt) Circle the constitutional isomers of 1-hexanol among following alcohols.




3) (1 pt) Classify each of the following as either 1, 2', or 3" alcohols:
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4) (3 pts) Complete the following reactions of alcohol:
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5) (3 pts) Complete the following reactions of alcohol oxidation:
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6) (3 pts) Draw condensed formula of each of the following:

a.3-Hexanol b. 1 2 3—Pentanetr1ol c. 2-Methyl-2-pentanol
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d. Cyclohexanol  e. 3,4-Dimethyl-3-heptanol
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7) (3 pts) Draw the alkene products of the dehydratxon of the following
alcohols:
i o HL S0y e o ¥m 3
v 5 “& G G ‘s \?l‘”;") »%.; ’ e;l' VR
a.2-Pentanol: ¢ 33%52 My, z' iy Vé)_%
Qe
b. 3-Methyl-l-pentanol: » RRA Ny A Ha D
c. 2-Butanol: O "%35‘5 o
d. 4-Chloro-2-pentanol
P Porl €My
et

e. 1-Propanol:
CHy eH, 0B
O
8) (3 pts) Give the oxidatlon products of the following alcohols. If no
reaction occurs, write N.R.
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